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Exercise 7 1

1. In quadrilateral ABCD, AC = AD and AB bisect

 show that  What can∠A ΔABC ≈ ΔABD.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_hHQxd6GQUPA5


you say about BC and BD ? 

Watch Video Solution

2. ABCD is a quadrilateral in which AD

 Prove that 
= BC and ∠DAB = ∠CBA

https://dl.doubtnut.com/l/_hHQxd6GQUPA5
https://dl.doubtnut.com/l/_zrWOuB7U170k


 


Watch Video Solution

ΔABD ≈ ΔBAC

3. ABCD is a quadrilateral in which AD

 Prove that 
= BC and ∠DAB = ∠CBA

https://dl.doubtnut.com/l/_zrWOuB7U170k
https://dl.doubtnut.com/l/_g4530IMPrrlr


 


Watch Video Solution

BD = AC

4. ABCD is a quadrilateral in which AD

 Prove that 
= BC and ∠DAB = ∠CBA =

https://dl.doubtnut.com/l/_g4530IMPrrlr
https://dl.doubtnut.com/l/_iW24Np6xIxOP


 


Watch Video Solution

∠ABD = ∠BAC

5. AD and BC are equal perpendicular to a line

segment AB. Show that CD bisects AB

https://dl.doubtnut.com/l/_iW24Np6xIxOP
https://dl.doubtnut.com/l/_AIYegocwDCPz


Watch Video Solution

6. l and m are two parallel lines intersected by

another pair of parallel lines p and q Show

https://dl.doubtnut.com/l/_AIYegocwDCPz
https://dl.doubtnut.com/l/_P01mgp7vueho


that  


Watch Video Solution

ΔABC ≈ ΔCDA.

https://dl.doubtnut.com/l/_P01mgp7vueho


7. What is the value of  . 


 .

Watch Video Solution

sina

8. Line l is the bisector of an angle  and B is

any point on l. BP and BQ are perpendiculars

from B to the arms of  show that:

∠A

∠A

https://dl.doubtnut.com/l/_UeVyQHhZ3gvo
https://dl.doubtnut.com/l/_YwzHXiwedXfW





Watch Video Solution

△ APB ≡ △ AQB

9. 

AC = AE, AB = AD and ∠BAD = ∠EAC.

https://dl.doubtnut.com/l/_YwzHXiwedXfW
https://dl.doubtnut.com/l/_BDOb3nqehj5R


show that  


Watch Video Solution

BC = DE.

10. AB is a line segment and P is its midpoint. D

and E are points on the same side of AB such

that  and ∠BAD = ∠ABE ∠EPA = ∠DPB

https://dl.doubtnut.com/l/_BDOb3nqehj5R
https://dl.doubtnut.com/l/_yvKR3mPNLuTS


. Show that . 


Watch Video Solution

ΔDAP ≅ΔEBP

11. AB is a line segment and P is its midpoint. D

and E are points on the same side of AB such

that  and ∠BAD = ∠ABE ∠EPA = ∠DPB

https://dl.doubtnut.com/l/_yvKR3mPNLuTS
https://dl.doubtnut.com/l/_Um8UC4rEfdEh


. Show that AD=BE. 

Watch Video Solution

12. In right triangle ABC, right angled at C, M is

the mid-point of hypotenuse AB. C is joined to

M and produced to a point D such that DM =

https://dl.doubtnut.com/l/_Um8UC4rEfdEh
https://dl.doubtnut.com/l/_YR3m1CeLaG3T


CM. Point D is joined to point B (See Fig. 

) Show

that : .

Watch Video Solution

ΔAMC ≅ΔBMD

13. In right triangle ABC, right angled at C, M is

the mid-point of hypotenuse AB. C is joined to

M and produced to a point D such that DM =

https://dl.doubtnut.com/l/_YR3m1CeLaG3T
https://dl.doubtnut.com/l/_O8zdJTQIMxmh


CM. Point D is joined to point B (See Fig.) 




Show that : .

Watch Video Solution

CM = AB
1

2

14. In right triangle ABC, right angled at C, M is

the mid point of hypotenuse AB. C is joined to

M and produced to a point D such that

https://dl.doubtnut.com/l/_O8zdJTQIMxmh
https://dl.doubtnut.com/l/_IdfU3mbiPVWL


DM=CM. point D is joined to point B. show that




Watch Video Solution

△ DBC ≡ △ ACB

15. In right triangle ABC, right angled at C, M is

the mid-point of hypotenuse AB. C is joined to

M and produced to a point D such that DM =

https://dl.doubtnut.com/l/_IdfU3mbiPVWL
https://dl.doubtnut.com/l/_bzb8nTdjtGQ6


Exercise 7 2

CM. Point D is joined to point B (See Fig.) 




Show that : .

Watch Video Solution

CM = AB
1

2

https://dl.doubtnut.com/l/_bzb8nTdjtGQ6


1. In an isosclees triangle ABC, with AB = AC,

the bisectors of  and  intersect each

other at O. Join A to O show that : OB=OC.

Watch Video Solution

∠B ∠C

2. In an isosclees triangle ABC, with AB = AC,

the bisectors of  and  intersect each

other at O. Join A to O show that : AO bisects

.

Watch Video Solution

∠B ∠C

∠A

https://dl.doubtnut.com/l/_j2t3KyJWkpbZ
https://dl.doubtnut.com/l/_72chnvbl4eeI


3. In , AD is the perpendicular

bisector of BC. Show that  is an

isosceles triangle in which AB=AC

Watch Video Solution

△ ABC

△ ABC

https://dl.doubtnut.com/l/_72chnvbl4eeI
https://dl.doubtnut.com/l/_cGjrDkwGYynU
https://dl.doubtnut.com/l/_zUdgABy1QwzU


4. ABC is an isosceles triangle in which

altitudes BE and CF are drawn to sides AC and

AB respectively (See Fig. 

). Show

that these altitudes are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_zUdgABy1QwzU


5. ABC is a triangle in which altitudes BE and

CF to sides AC and AB are equal Show that 

 


Watch Video Solution

ΔABE ≈ ΔACF

https://dl.doubtnut.com/l/_b3Urn6gNWnTW
https://dl.doubtnut.com/l/_OxQKkppeyhs9


6. ABC is a triangle in which altitudes BE and

CF to sides AC and AB are equal Show that 

 


 i.e., ABC is an isosceles

Watch Video Solution

AB = AC,

https://dl.doubtnut.com/l/_OxQKkppeyhs9
https://dl.doubtnut.com/l/_1QKjwYF1Fkr6


7. ABC and DBC are two isosceles trianges on

the same base BC Show that

 


Watch Video Solution

∠ABD = ∠ACD.

https://dl.doubtnut.com/l/_1QKjwYF1Fkr6


8.  is an isoscelestriangle in which AB =

AC. Side BA is produced to D such that AD = AB.

Show that  is a right angle (see Fig. 


).

Watch Video Solution

ΔABC

∠BCD

https://dl.doubtnut.com/l/_YGqDOUKIvQd4


9. ABC is a right angled triange in which

 Find 

 


∠A = 90∘ and AB = AC.

∠B and ∠C.

https://dl.doubtnut.com/l/_YGqDOUKIvQd4
https://dl.doubtnut.com/l/_Pe9Ec2EaDdfG


Watch Video Solution

10. Show that the angles of an equilateral

triangle are  each. 


Watch Video Solution

60∘

https://dl.doubtnut.com/l/_Pe9Ec2EaDdfG
https://dl.doubtnut.com/l/_p9YuiNBJEwva


Exercise 7 3

1.  and  are two isosceles

triangles on the same base BC and vertices A

and D are on the same side of BC (See Fig. 

).If AD is

extended to intersect BC at P, show that

.

ΔABC ΔDBC

ΔABD ≅ΔACD

https://dl.doubtnut.com/l/_jkkDFuJsOL3G


Watch Video Solution

2.  and  are two isosceles

triangles on the same base BC and vertices A

and D are on the same side of BC (See Fig. 

).If AD is

ΔABC ΔDBC

https://dl.doubtnut.com/l/_jkkDFuJsOL3G
https://dl.doubtnut.com/l/_XMhjQMLkZGEI


extended to intersect BC at P, show that

.

Watch Video Solution

ΔABD ≅ΔACD

3.  and  are two isosceles

triangles on the same base BC and vertices A

and D are on the same side of BC (See Fig. 

ΔABC ΔDBC

https://dl.doubtnut.com/l/_XMhjQMLkZGEI
https://dl.doubtnut.com/l/_rvB2BgzxJN7p


).If AD is

extended to intersect BC at P, show that AP

bisects  as well as .

Watch Video Solution

∠A ∠D

4.  and  are two isosceles

triangles on the same base BC and vertices A

ΔABC ΔDBC

https://dl.doubtnut.com/l/_rvB2BgzxJN7p
https://dl.doubtnut.com/l/_f1NGTDdXqhf2


and D are on the same side of BC (See Fig. 

).If AD is

extended to intersect BC at P, show that

.

Watch Video Solution

ΔABD ≅ΔACD

https://dl.doubtnut.com/l/_f1NGTDdXqhf2


5. AD is an altitude of an isosceles triangle ABC

in which AB = AC. Show that:- AD bisects BC

Watch Video Solution

6. AD is an altitude of an isosceles triangle ABC

in which AB = AC. Show that:- AD bisects BC

Watch Video Solution

https://dl.doubtnut.com/l/_SW3rZSp64FdC
https://dl.doubtnut.com/l/_0DAYnAUCUPyn


7. Two sides AB and BC and median AM of one

triangle ABC are respectively equal to sides PQ

and QR and median PN of  (See Fig 
ΔPQR

https://dl.doubtnut.com/l/_sWkrRqpVnD0i


). Show

that : .

Watch Video Solution

ΔABM ≅ΔPQN

https://dl.doubtnut.com/l/_sWkrRqpVnD0i


8. Two sides AB and BC and median AM of one

triangle ABC are respectively equal to sides PQ

and QR and median PN of  (See Fig 
ΔPQR

https://dl.doubtnut.com/l/_hYGkcC23mUQC


). Show

that : .

Watch Video Solution

ΔABM ≅ΔPQN

https://dl.doubtnut.com/l/_hYGkcC23mUQC


9. BE and CF are two equal altitudes of a

triangle ABC. Using RHS congruence rule,

prove that the triangle ABC is isosceles. 

Watch Video Solution

https://dl.doubtnut.com/l/_nnwh3gkp4nuu
https://dl.doubtnut.com/l/_h4NNUarUNlqD


Exercise 7 4

10. ABC is an isosceles triangle with AC = BC. If

 = , prove that ABC is right triangle.

Watch Video Solution

AB2 2AC 2

1. Show that in a right angled triangle, the

hypotenuse is the longest side. 

https://dl.doubtnut.com/l/_h4NNUarUNlqD
https://dl.doubtnut.com/l/_D077afuwcOnb


Watch Video Solution

2. sides AB and AC of  are extended to

points P and Q respectively. Also

ABC

https://dl.doubtnut.com/l/_D077afuwcOnb
https://dl.doubtnut.com/l/_Jj9YWPqShsyO


 Show that  


Watch Video Solution

∠PBC < ∠QCB. AC > AB.

https://dl.doubtnut.com/l/_Jj9YWPqShsyO


3.  Show that 

 


Watch Video Solution

∠B < ∠A and ∠C < ∠D.

AD < BC.

https://dl.doubtnut.com/l/_u7vt2up8GM3X


4. AB and CD are respectively the smallest and

longest sides of a quadrilateral ABCD (see Fig.

https://dl.doubtnut.com/l/_sX3ldIOg8ade


7.50). Show that  and . 


Watch Video Solution

∠A > ∠C ∠B > ∠D

https://dl.doubtnut.com/l/_sX3ldIOg8ade
https://dl.doubtnut.com/l/_DY6YGZhx8bWR


5. In Fig 7.51, PR > PQ and PS bisects .

Prove that . 


A. 

B. 

C. 

D. 

∠QPR

∠PSR > ∠PSQ

∠PSQ

https://dl.doubtnut.com/l/_DY6YGZhx8bWR


Exercise 7 5

Answer:

Watch Video Solution

6. Show that of all line segments drawn from a

given point not on it, the perpendicular line

segment is the shortest.

Watch Video Solution

https://dl.doubtnut.com/l/_DY6YGZhx8bWR
https://dl.doubtnut.com/l/_28ncEPepUChJ
https://dl.doubtnut.com/l/_orj633kou1ye


1. ABC is a triangle. Locate a point in the

interior of  which is equidistant from

all the vertices of .

Watch Video Solution

ΔABC

ΔABC

2. In a triangle locate a point in its interior

which is equidistant from all the sides of the

triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_orj633kou1ye
https://dl.doubtnut.com/l/_xwj60qC7tWRy


3. In a huge park, people are concentrated at

the points

A: where there are difference slides for

children

B: near which a man-made lake is situated

C: which is near to a large parking and each

where should an icecream parlour be set up

that maximum number of persons can

https://dl.doubtnut.com/l/_l8hIa8PHKu8I


approach it

Watch Video Solution

4. Complete the hexagonal rangoli and the

star Rangolies (see Figs. 

https://dl.doubtnut.com/l/_l8hIa8PHKu8I
https://dl.doubtnut.com/l/_BRFHugiTHvKS


Objective Type Questions

) by

filling them with as many equilateral triangles

of side 1 cm as you can. Count the number of

triangles in each case. Which has more

triangles ?

Watch Video Solution

https://dl.doubtnut.com/l/_BRFHugiTHvKS
https://dl.doubtnut.com/l/_bJP7JZPE9Zd0


1. State whether the statement are true (T) or

false (F): 

Zero is a rational number.

Watch Video Solution

2. If .... And the included angle of one triangle

are equal to two sides and the included angle

of the other triangle then two triangles are

congruent.

Watch Video Solution

https://dl.doubtnut.com/l/_bJP7JZPE9Zd0
https://dl.doubtnut.com/l/_3DAZZAFnwakI
https://dl.doubtnut.com/l/_GOirKZFUzsUn


3. State whether the statement are true (T) or

false (F): 

Zero is a rational number.

Watch Video Solution

4. The sides opposite to two equal angles of a

triangle are :

Watch Video Solution

https://dl.doubtnut.com/l/_GOirKZFUzsUn
https://dl.doubtnut.com/l/_qxNfuz7dInFg


5. The sides opposite to two equal angles of a

triangle are :

Watch Video Solution

6. Two right triangles are congruent if

hypotenuse and one side of first-triangle are

respectively equal to the hypoteņuse and one

corresponding side of the second triangle

Watch Video Solution

https://dl.doubtnut.com/l/_G7QVHscFbesF
https://dl.doubtnut.com/l/_Bye9yn9hH8rV
https://dl.doubtnut.com/l/_S28jSbGIwKo3


7. The measure of each angle of an equilateral

triangle is :

Watch Video Solution

8. State whether the statement are true (T) or

false (F): 

In a triangle side opposite to the larger

(greater) angle is longer .

Watch Video Solution

https://dl.doubtnut.com/l/_S28jSbGIwKo3
https://dl.doubtnut.com/l/_A7JFjI5bzOUp
https://dl.doubtnut.com/l/_cx6eh4ECQzMa


9. In a triangle, the angle opposite to the

longer side is :

Watch Video Solution

10. Sum of any two sides of a triangle is

greater than the third side.

Watch Video Solution

11. If three angles of one triangle are equal to

corresponding three angles of an other

https://dl.doubtnut.com/l/_cx6eh4ECQzMa
https://dl.doubtnut.com/l/_Yb74Iq5q3VtZ
https://dl.doubtnut.com/l/_17YhPG0vojG4


triangle then triangles are congruent.

Watch Video Solution

12. Fill in the blank 

If in two triangles

 then 

 ......................

Watch Video Solution

AB = QR, ∠A = ∠Q, ∠B = ∠R,

ΔABC ≈

https://dl.doubtnut.com/l/_17YhPG0vojG4
https://dl.doubtnut.com/l/_zjcpRGtG23LL


13. If M is the mid point of hypotenuse AC of rt.

 then 

Watch Video Solution

ΔABC BM = .... .
1

2

14. If in two triangles  and ,

PR=EF, QR=DE,PQ=FD, then

 ..

Watch Video Solution

△ PQR △ DEF

△ PQR ≡ …………….

https://dl.doubtnut.com/l/_qtkPjfzQfmsH
https://dl.doubtnut.com/l/_FH8BhOd1eEDw


15. The sides opposite to two equal angles of a

triangle are :

Watch Video Solution

16. Fill in the blank 

Each angle of an equilateral triangle is .............

Watch Video Solution

https://dl.doubtnut.com/l/_5m5EvFlYXCqR
https://dl.doubtnut.com/l/_UQtwOphLmeMV


17. Fill in the blank 

In a triangle ABC, if

 then 

............

Watch Video Solution

BC = AB and ∠C = 80∘ , ∠B =

18. Fill in the blank 

In a triangle PQR, if  then PQ = .............

Watch Video Solution

∠P = ∠R

https://dl.doubtnut.com/l/_n9lDfpBUFhgO
https://dl.doubtnut.com/l/_HCjzCasEKvlm
https://dl.doubtnut.com/l/_0BGiRklTPC9k


19. Fill in the blank 

In a right triangle the hypotenuse is ............

Side.

Watch Video Solution

20. If two sides of a triangle are unequal, then

the larger side has the ................. angle opposite

to it.

Watch Video Solution

https://dl.doubtnut.com/l/_0BGiRklTPC9k
https://dl.doubtnut.com/l/_oepbGZbp1ZLK

